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Two star challenge
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Three star challenge
1. Have 10% of £5 or 75% of 80p. 
[bookmark: _GoBack]10% of £5 is 50p:
75% of 80p is 60p. 
2. Have 60% of 2 pizzas or 26% of 5 pizzas. 
60% of 2 is 1.2
26% of 5 is 1.3. 
3. Get bitten by 15% of 120 mosquitoes or by 8% of 250 mosquitoes. 
15% of 120 is 18 and 8% of 250 is 20. 
4. Skip with a rope 54% of 105cm long or with one 88% of 2.75m long. 
54% of 105cm is 56.7cm, and 88% of 2.75m is 2.42m = 242cm. I'd prefer using the longer rope.
5. Get stuck in a traffic jam lasting 33% of 2 hours or 44% of 1 hr 40 mins. 33% of 120 minutes is 40 minutes
44% of 100 minutes is 44 minutes. 
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p Would Rather..? Answers

Calculate the amount in each choice and then select the largest amount.
Use fraction bars or calculations to help you to work out your answers.

1. Would you rather. % of £4=£1 % of £6=£2
. Would you rather..? 5‘ of £4=£2

. Would yourather.? 3 of £36=£24 1 ofes5=£11

| Would yourather.? & of £35=£14 5 of £96=£12 2 of £30=£15
. Would you rather.? (& of £25 = £20 2 of £27=£18 3 of £60=£18

. Would yourather.? 3 of £48=£18 3 of £44=£33 $ of £45=£25

2

. Would you rather..? 7 of £54=£18 7 of £49 = £21 5 of £60 = £20

. Would you rather. 7 of £72=£60 % of £70 = £56 % of £72 = £56
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B Would Rather..? Answers

Calculate the amount in each choice and then select the largest amount.
Use fraction bars or calculations to help you to work out your answers.

I. Would yourather.? 3 of £48=£18 3 of £44=£33 2 of £45=£25
. Would you rather..? % of £54 = £18 7 of £49 = £21 of £60 = £20
. Would you rather. 3 of £72=£60 35 of £70= £56 of £72 = £56

. Would yourather.? 3 of £2 = 50p of £5=50p

. Would you rather..? ,e—n of £1 = 80p 3 of£1=75p of £2 = 50p
. Would you rather..? 21 of £5 = £2.50 z of £6 = £4

. Would you rather..? g of £ X % of £4.50 = £3

. Would yourather.? & of £1.50=£1.20 of £3 = 90p 3 of £270=£1.50

117PM
AN (7 i x
i @ 3 02-Apr-20 B





